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%DQ\DNQ\D� DNWLYLWDV� SHQDPEDQJDQ� VLUWX� GL� .DEXSDWHQ� /XPDMDQJ�� VDODK� VDWXQ\D� GL� 'HVD� ;;;�� .HFDPDWDQ�
&DQGLSXUR�� .DEXSDWHQ� /XPDMDQJ�� -DZD� 7LPXU�� PHQ\HEDENDQ� UHQFDQD� UHNODPDVL� VDQJDW� GLEXWXKNDQ� XQWXN�
PHPLQLPDOLVLU� GHJUDGDVL� OLQJNXQJDQ� \DQJ� GLVHEDENDQ� ROHK� DNWLYLWDV� SHQDPEDQJDQ�� WHUPDVXN� SHUPDVDODKDQ�
VRVLDO� 5HNODPDVL�DNDQ�GLODNXNDQ�SDGD�ODKDQ�GHQJDQ�OXDVDQ������KD��GHQJDQ�WXMXDQ�DNKLU�GDUL�NHJLDWDQ�UHNODPDVL�
GL� ORNDVL� LQL� DGDODK�XQWXN�QRUPDOLVDVL� DOLUDQ� DLU� VXQJDL� GDQ� SHQGDODPDQ�EDGDQ� VXQJDL� 'DUL� KDVLO� SHUKLWXQJDQ�
ELD\D� UHQFDQD� UHNODPDVL� \DQJ� WHUGLUL� GDUL� ELD\D� ODQJVXQJ� GDQ� ELD\D� WLGDN� ODQJVXQJ� � \DLWX�� 5S�������������
GHQJDQ�XUDLDQ�ELD\D�ODQJVXQJ�PHOLSXWL�SHQDWDDQ�ODKDQ�GDQ�ERXOGHU��VHUWD�SHUDZDWDQ�EDQJXQDQ�VXQJDL�

.DWD�NXQFL� 5HNODPDVL��JDOLDQ�VLUWX��GHJUDGDVL�OLQJNXQJDQ�
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3HUFHSDWDQ� SHPEDQJXQDQ� LQIUDVWUXNWXU� \DQJ�
PHQMDGL� VDODK� VDWX� SURJUDP� SHPHULQWDK�� WHQWX
PHPEXWXKNDQ� NHWHUVHGLDDQ� EDKDQ� EDNX� GL� DODP��
\DQJ�DNDQ�GLHNVSORLWDVL�PHODOXL�UDQJNDLDQ�NHJLDWDQ�
SHQDPEDQJDQ��6DODK�VDWX�NRPRGLWDV�WDPEDQJ�\DQJ�
VDQJDW�GLEXWXKNDQ�XQWXN�PHQGXNXQJ�SHPEDQJXQDQ�
LQIUDVWUXNWXU WHUVHEXW DGDODK�VLUWX�
'DODP VHWLDS NHJLDWDQ� SHQDPEDQJDQ� WHQWX� DNDQ�
PHPEHULNDQ� GDPSDN�� EDLN� SRVLWLI� PDXSXQ� QHJDWLI
XQWXN�ZLOD\DK�VHNLWDU��'DPSDN�SRVLWLI GDUL�DGDQ\D�
DNWLYLWDV�SHQDPEDQJDQ \DLWX�PHQFLSWDNDQ�ODSDQJDQ�
SHNHUMDDQ� EDJL� PDV\DUDNDW� VHNLWDU�� VHPHQWDUD�
GDPSDN� QHJDWLIQ\D WHUMDGL� GHJUDGDVL� OLQJNXQJDQ��
VDPSDL�SHUPDVDODKDQ�VRVLDO� 2OHK�NDUHQD LWX��VHWLDS�
SHUXVDKDDQ� \DQJ� PHODNXNDQ� DNWLYLWDV�
SHQDPEDQJDQ� GLZDMLENDQ� PHODNXNDQ� NHJLDWDQ�
UHNODPDVL� SDVFD� SHQDPEDQJDQ XQWXN�
PHQJHPEDOLNDQ� IXQJVL� ODKDQ� PHQMDJD�
NHVHLPEDQJDQ� DODP� VHNDOLJXV� PHPEDQJXQ�
LQIUDVWUXNWXU� \DQJ� EHUPDQIDDW� EDJL PDV\DUDNDW�
VHNLWDU� 6HODLQ� LWX�� SHPEDQJXQDQ� EHUZDZDVDQ�
OLQJNXQJDQ�PHQMDGL� VXDWX� NHEXWXKDQ� SHQWLQJ� EDJL�
VHWLDS� EDQJVD� GDQ� QHJDUD� \DQJ� PHQJLQJLQNDQ�
NHOHVWDULDQ� VXPEHUGD\D� DODP�� 2OHK� VHEDE� LWX��
VXPEHUGD\D� DODP� SHUOX� GLMDJD� GDQ� GLSHUWDKDQNDQ�
XQWXN� NHODQJVXQJDQ� KLGXS� PDQXVLD� NLQL�� PDXSXQ�
XQWXN�JHQHUDVL�\DQJ�DNDQ�GDWDQJ��$ULI��������

.$-,$1�3867$.$

5HNODPDVL�3DVFD�7DPEDQJ

6DODK� VDWX� NHJLDWDQ� \DQJ� VDQJDW� SHQWLQJ GDODP�
SURVHV� SHQDPEDQJDQ� DGDODK� NHJLDWDQ� UHNODPDVL��
GDQ� KDUXV� GLODNXNDQ� ROHK� VHWLDS� SHUXVDKDDQ� \DQJ�
PHODNXNDQ� DNWLYLWDV� WDPEDQJ�� ,QL� GLODNXNDQ� JXQD
PHQJHPEDOLNDQ� IXQJVL� ODKDQ� DJDU� NHPEDOL�

VHWLGDNQ\D� PHQGHNDWL� NRQGLVL� DZDO� VHEHOXP�
GLODNXNDQ� DNWLYLWDV� SHQDPEDQJDQ�� PHVNLSXQ�
PXQJNLQ� WLGDN DNDQ�VDPD�GHQJDQ�NRQGLVL�VHEHOXP�
GLODNXNDQ� SHQDPEDQJDQ�� 6HODLQ� LWX�� UHNODPDVL�
GLODNXNDQ�XQWXN�PHQMDJD�DJDU�ODKDQ NHPEDOL VWDELO�
GDQ SURGXNWLI�� VHKLQJJD� SDGD� DNKLUQ\D� UHNODPDVL�
PHQJKDVLONDQ� QLODL� WDPEDK� EDJL� OLQJNXQJDQ�� GDQ�
PHQFLSWDNDQ� NHDGDDQ� \DQJ� MDXK� OHELK� EDLN
GLEDQGLQJNDQ� NHDGDDQ� VHEHOXP� GLODNXNDQ�
SHQDPEDQJDQ �/XELV��GNN���������
8QGDQJ�XQGDQJ� WHODK� PHQJDWXW� SHODNVDQDDQ�
UHNODPDVL�� WHSDWQ\D GDODP 3HUDWXUDQ� 0HQWHUL�
(QHUJL� GDQ� 6XPEHU� 'D\D� 0LQHUDO� 1R��� 7DKXQ�
������ WHQWDQJ� 3HODNVDQDDQ� 5HNODPDVL� GDQ�
3DVFDWDPEDQJ�SDGD�.HJLDWDQ�8VDKD�3HUWDPEDQJDQ�
0LQHUDO� GDQ� %DWXEDUD�� 6HODLQ� LWX�� SDGD� 88�� 1R���
7DKXQ� ������ %$%� ,�� 3DVDO� �� $\DW� ��� GLVHEXWNDQ
³5HNODPDVL� DGDODK� NHJLDWDQ� \DQJ� GLODNXNDQ�
VHSDQMDQJ� WDKDSDQ� XVDKD� SHUWDPEDQJDQ� XQWXN�
PHQDWD�� PHPXOLKNDQ�� GDQ� PHPSHUEDLNL� NXDOLWDV�
OLQJNXQJDQ� GDQ� HNRVLVWHP� DJDU� GDSDW� EHUIXQJVL�
NHPEDOL�VHVXDL�SHUXQWXNNDQQ\D�´
3URVHGXU� WHNQLV� UHNODPDVL� WDPEDQJ�� KLQJJD�
SHQXWXSDQ� WDPEDQJ� MXJD� WHODK� GLVLDSNDQ� ROHK�
SHPHULQWDK��.HWHQWXDQ�UHNODPDVL�WHODK�GLDWXU�GDODP�
3HUDWXUDQ� 0HQWHUL� (QHUJL� GDQ� 6XPEHU 'D\D�
0LQHUDO�1RPRU����7DKXQ������
%HEHUDSD� KDO� \DQJ� SHUOX� GLSHUKDWLNDQ� VHODPD�
SHQJHUMDDQ�UHNODPDVL�DQWDUD�ODLQ�VHEDJDL�EHULNXW�
�� 5HNODPDVL� ZDMLE� GLODNXNDQ� SDOLQJ� ODPEDW� ��

�VDWX�� EXODQ� VHWHODK� NHJLDWDQ� XVDKD�
SHUWDPEDQJDQ� VHOHVDL SDGD� ODKDQ� WHUJDQJJX��
PHOLSXWL�
D� /DKDQ�EHNDV�WDPEDQJ�
E� /DKDQ� GL� OXDU� EHNDV� WDPEDQJ�� /DKDQ� EHNDV�

WDPEDQJ� VHSHUWL WLPEXQDQ� EDKDQ�
EDNX�SURGXNVL� WLPEXQDQ� WDQDK� SHQXWXS�
RYHUEXUGHQ�� SDGD� MDOXU� WUDQVSRUWDVL��



SDEULN�LQVWDODVL� SHQJRODKDQ�SHPXUQLDQ��
NDQWRU�GDQ�SHUXPDKDQ��SHODEXKDQ�GHUPDJD�

�� 5HNODPDVL� GLODNXNDQ� ROHK� SHUXVDKDDQ�
SHUWDPEDQJDQ� VHVXDL� GHQJDQ� 5HQFDQD�
5HNODPDVL�� WHUPDVXN� SHUXEDKDQ� 5HQFDQD�
5HNODPDVL�� \DQJ� WHODK� GLVHWXMXL� ROHK� 0HQWHUL��
*XEHUQXU��DWDX�%XSDWL�:DOLNRWD��VHVXDL�GHQJDQ�
NHZHQDQJDQ�

$JDU� GDSDW� PHQFDSDL� VDVDUDQ�� KDO�KDO� \DQJ� SHUOX
GLSHUKDWLNDQ� GDODP� SHUHQFDQDDQ� UHNODPDVL�� DQWDUD�
ODLQ�VHEDJDL�EHULNXW�
�� 0HPSHUVLDSNDQ� UHQFDQD� UHNODPDVL� VHEHOXP�

SHODNVDQDDQ�SHQDPEDQJDQ�
�� /XDV� DUHD� UHNODPDVL� VDPD� GHQJDQ� OXDV� DUHD

SHQDPEDQJDQ�
�� 0HPLQGDKNDQ� GDQ� PHQHPSDWNDQ� WDQDK� SXFXN�

SDGD�WHPSDW�WHUWHQWX��GDQ�PHQJDWXU�VHGHPLNLDQ�
UXSD�XQWXN�NHSHUOXDQ�YHJHWDVL�

�� 0HQJHPEDOLNDQ�PHPSHUEDLNL� NDQGXQJDQ�
�NDGDU�� EDKDQ� EHUDFXQ� VDPSDL� WLQJNDW� \DQJ�
DPDQ� VHEHOXP� GDSDW� GLEXDQJ� NH� VXDWX� WHPSDW�
SHPEXDQJDQ�

�� 0HQJHPEDOLNDQ� ODKDQ� VHSHUWL� NHDGDDQ� VHPXOD�
GDQ�DWDX�VHVXDL�GHQJDQ�WXMXDQ�SHQJJXQDDQQ\D�

�� 0HPSHUNHFLO� HURVL� VHODPD� GDQ� VHWHODK� SURVHV�
UHNODPDVL�

�� 0HPLQGDKNDQ� VHPXD� SHUDODWDQ� \DQJ� WLGDN�
GLJXQDNDQ�ODJL�GDODP�DNWLYLWDV�SHQDPEDQJDQ�

�� 3HUPXNDDQ� \DQJ� SDGDW� KDUXV� GLJHPEXUNDQ��
QDPXQ�ELOD�WLGDN�PHPXQJNLQNDQ��DJDU�GLWDQDPL�
GHQJDQ� WDQDPDQ� SLRQLU� \DQJ� DNDUQ\D� PDPSX�
PHQHPEXV�WDQDK�\DQJ�NHUDV�

�� 6HWHODK� SHQDPEDQJDQ GLODNXNDQ� PDND� SDGD�
ODKDQ� EHNDV� WDPEDQJ� \DQJ� GLSHUXQWXNNDQ� EDJL�
YHJHWDVL�� VHJHUD� GLODNXNDQ� SHQDQDPDQ� NHPEDOL�
GHQJDQ� MHQLV� WDQDPDQ� VHVXDL� UHQFDQD�
UHKDELOLWDVL�

���0HQFHJDK� PDVXNQ\D� KDPD� GDQ� JXOPD�
EHUEDKD\D��GDQ�

���0HPDQWDX� GDQ� PHQJHOROD� DUHDO� UHNODPDVL�
VHVXDL�GHQJDQ�NRQGLVL�\DQJ�GLKDUDSNDQ�

6HSHUWL� \DQJ� VXGDK� GLVHEXWNDQ� VHEHOXPQ\D�� DJDU�
NHJLDWDQ� UHNODPDVL� GDQ� SDVFD� WDPEDQJ� GDSDW�
WHUODNVDQD� GDQ� PHPHQXKL� NULWHULD� NHEHUKDVLODQ��
PDND� DGD� EHEHUDSD� WDKDSDQ� \DQJ� KDUXV� GLODOXL��
\DLWX� SHUPRKRQDQ� L]LQ� WDWD� ODNVDQD� UHQFDQD�
UHNODPDVL�GDQ� UHQFDQD�SDVFD� WDPEDQJ��SHUVHWXMXDQ�
UHQFDQD� UHNODPDVL� GDQ� UHQFDQD� SDVFD� WDPEDQJ��
KLQJJD� SHUXEDKDQ� UHQFDQD� UHNODPDVL� GDQ� UHQFDQD�
SDVFD�WDPEDQJ��3URVHV�WDKDSDQ�WHUVHEXW�GLDWXU�SDGD�
3HUDWXUDQ�3HPHULQWDK�1RPRU����7DKXQ������\DQJ�
WHUOHELK� GDKXOX� KDUXV� PHODOXL� L]LQ� GDUL� PHQWHUL��
JXEHUQXU��EXSDWL�ZDOLNRWD��.HPXGLDQ�PHQ\HGLDNDQ�
GDQD� MDPLQDQ� UHNODPDVL� GDQ� GDQD� MDPLQDQ� SDVFD�
WDPEDQJ� \DQJ� PHUXSDNDQ� VDODK� VDWX� NHZDMLEDQ�
\DQJ�KDUXV�GLODNXNDQ SHUXVDKDDQ �2NWRULQD��������
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0HWRGH� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� GHQJDQ�
PHODNXNDQ� SHQJDPELODQ� GDWD� SULPHU� GDQ� DQDOLVLV�
GDWD� VHNXQGHU�� 'DWD� SULPHU� GLODNXNDQ� GHQJDQ�
SHQJDPELODQ� GDWD� ODQJVXQJ� GL� ODSDQJDQ�� VHUWD�
ZDZDQFDUD� GHQJDQ� SLKDN� SHUXVDKDDQ�� 6HPHQWDUD�
DQDOLVLV� GDWD� VHNXQGHU� GLSHUROHK� GDUL� OLWHUDWXU�
OLWHUDWXU�� SHUDWXUDQ� SHPHULQWDK� \DQJ� EHUNDLWDQ�
GHQJDQ� UHNODPDVL�� GDQ� ODSRUDQ�ODSRUDQ SHQHOLWLDQ
\DQJ�WHODK�GLODNXNDQ�VHEHOXPQ\D�
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5HNODPDVL� \DQJ� DNDQ� GLODNXNDQ� GL� GDHUDK�
SHQHOLWLDQ� EHUXSD� SHQDWDDQ� ODKDQ� GDQ� QRUPDOLVDVL�
DOLUDQ� VXQJDL�� 3HQDWDDQ� ODKDQ� GLODNXNDQ� GHQJDQ�
WXMXDQ� DJDU� DOLUDQ� VXQJDL� NHWLND� WHUMDGL� NHQDLNDQ
GHELW DLU�� WLGDN� DNDQ� PHQJJDQJJX� DWDX�
PHPEDKD\DNDQ� NHJLDWDQ� SHQDPEDQJDQ \DQJ�
WHQJDK�EHUODQJVXQJ�
5HQFDQD� UHNODPDVL GLODNXNDQ� SDGD OXDVDQ� ODKDQ�
�����KHNWDU� GHQJDQ� ODPD�ZDNWX� UHNODPDVL��� �GXD��
KDUL�SHQJHUMDDQ�KHNWDU�
3DGD� ORNDVL� WDPEDQJ�� DNDQ�GLEXDW� ORNDVL� WLPEXQDQ�
VHPHQWDUD� XQWXN� PHQ\LPSDQ� ERQJNDK�ERQJNDK�
EDWXDQ� \DQJ� WLGDN� GDSDW� GLDQJNXW� NHOXDU� GDUL� DUHD�
SHQDPEDQJDQ�� 7LPEXQDQ� ERQJNDKDQ� DQGHVLW� DNDQ�
GLOHWDNNDQ� GL� VHSDQMDQJ� VHEHODK� WLPXU� ORNDVL�
SHQDPEDQJDQ��VHKLQJJD�DNDQ�PHPSHUPXGDK�NHWLND�
GLODNXNDQ� SHPLQGDKDQ� NHPEDOL� NH� ORNDVL� EHNDV�
WDPEDQJ�� 'DODP� NHJLDWDQ� UHNODPDVL�� WLPEXQDQ�
PDWHULDO� WHUVHEXW� QDQWLQ\D� DNDQ� GLMDGLNDQ�PDWHULDO�
LVLDQ� NH� DUHD� EHNDV� SHQDPEDQJDQ�� 0DWHULDO� DNDQ�
NHPEDOL� GLGLVWULEXVLNDQ� � NH� VHOXUXK� DUHD� EHNDV�
SHQDPEDQJDQ�� GLWDWD� VHFDUD� WHUDWXU� GHQJDQ�
NHPLULQJDQ� \DQJ� ODQGDL�� VHKLQJJD� WLGDN�
PHPEDKD\DNDQ�NHVHODPDWDQ�

�D� �E�

*DPEDU �� �D�� GDQ� �E�� 5RQD� $ZDO� /RNDVL�
3HQDPEDQJDQ

1RUPDOLVDVL� DOLUDQ� VXQJDL� GLODNXNDQ� GHQJDQ�
SHQJHUXNDQ� PDWHULDO� VHGLPHQWDVL� \DQJ� PHQXWXSL�
DOLUDQ� VXQJDL� VHEDJDL� DNLEDW� GDUL� WHUMDGLQ\D� EDQMLU�
GDQ� DNWLILWDV� SHQDPEDQJDQ�� 3HQJHUXNDQ� PDWHULDO�
VHGLPHQ� WHUVHEXW� GLPDNVXGNDQ� DJDU� PHPEXND�
NHPEDOL� DOLUDQ� VXQJDL� \DQJ� WHUWXWXS� GDQ�



PHPSHUGDODP�VXQJDL��.HJLDWDQ�QRUPDOLVDVL�VXQJDL�
DNDQ� GLODNXNDQ� EHUVDPDDQ� GHQJDQ� SHQDWDDQ� ODKDQ�
SDGD�VDDW�NHJLDWDQ�UHNODPDVL�
3HODNVDQDDQ� SHQJHUMDDQ� UHNODPDVL� PHPEXWXKNDQ�
DODW� EHUXSD� �� XQLW� H[FDYDWRU� 3&������ �� XQLW� DODW�
DQJNXW�EHUNDSDVLWDV�� Pñ�
6HODLQ�SHQDWDDQ�ODKDQ�GDQ�QRUPDOLVDVL�VXQJDL��SDGD�
ORNDVL� WDPEDQJ� GLUHQFDQDNDQ� DNDQ� GLEDQJXQ�
SRV�FKHNHU�� NDQWRU�� GDQ� LQVWDODVL� DLU�� )DVLOLWDV�
SHQXQMDQJ� WHUVHEXW� DNDQ� GLEDQJXQ� GHNDW� SLQWX�
PDVXN� ORNDVL� SHQDPEDQJDQ� SDGD� VHEHODK� XWDUD�
�VHPSDGDQ�VXQJDL��
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$ULI�� ,��� ����	��� ³3HUHQFDQDDQ� 7DPEDQJ� 7RWDO�
6HEDJDL� 8SD\D� 3HQ\HOHVDLDQ� 3HUVRDODQ�
/LQJNXQJDQ�'XQLD�3HUWDPEDQJDQ´�8QLYHUVLWDV�
6DP�5DWXODQJL��0DQDGR�

/XELV��&�0���6ULZLGD\DWL��=DHQDO����������³5HQFDQD�
5HNODPDVL�/DKDQ�%HNDV�7DPEDQJ�$QGHVLW�&9�
3DQJKHJDU� GL� 'HVD� &LODODZL�� .HFDPDWDQ�
6XNDWDQL�� .DEXSDWHQ� 3XUZDNDUWD� 3URYLQVL�
-DZD�%DUDW´�3URVLGLQJ�7HNQLN�3HUWDPEDQJDQ�±
81,6%$� 9ROXPH����1R�����KDO����������

2NWRULQD�� 6��� �������� ³.HELMDNDQ� 5HNODPDVL� GDQ�
5HYHJHWDVL� /DKDQ� %HNDV� 7DPEDQJ� �6WXGL�
.DVXV� 7DPEDQJ� %DWXEDUD� ,QGRQHVLD�´� $/�
$5'�� -XUQDO� 7HNQLN� /LQJNXQJDQ� 9RO��� 1R����
KDO�������


